	Law:
	Boyle’s
	Charles’s
	Gay Lussac’s
	Combined

	Formula:
	P1xV1=P2xV2
	V1  =  V2
T1       T2
	P1  =  P2
T1      T2
	P1xV1 = P2xV2
   T1        T2 

	Constant:
	Temperature & Mass
	Pressure & Mass
	Volume & Mass
	Mass

	Relationship:
	Inverse:

P      =   V  
	Direct:

T     =   V
	Direct:  

T     =   P
	Variable

	Rearranged:
	V2=P1xV1
         P2
P2=P1xV1
         V2
	V2=V1xT2
         T1
	P2=P1xT2
         T1
	V2=V1xP1xT2
         P2xT1
P2=V1xP1xT2
         V2xT1
T2=P2xV2xT1
        P1xV1


